™ on
|
=
[SNe)
©
PN
5,4_|ZVJ6
+ I
= =
— O | <
Q ©

® 2x + 15y
@ x4+ 4y



Al (3x -2y —1) — (x - 3y — 4) & 7++3] 519

D 2x-3y-5 @ 2x-2y-5 @ 2x-2y+4

@ 2x+y+3 ® 2x+2y+3



3. ©=r
A

FAA oA —2x+ 3y & A5 EY x+5y7F HQict. o] o, o4
Ftal?

OO

i

@D 3x+2y @ x-5y ® 2x+y-1

@ 2x+ 3y ® 2x+ b5y



(Ax?> =3x+1) = (=x> + Bx +4) = 3x> + 2x + C |4 A, B, C 9]

a9
@O A=2,B=-1,C=3 @ A=4,B=-1,C=5
® A=4,B=-5,C=-5 @ A=2 B=5C=3

®» A=2 B=-5C=-3



1 ?

ot

5.  5x—2[dy+x-3{x-203x+y) +y}] & 73|

O -27x - 14y @ -12x -5y @ 4x-1ly

@ 12x+ 10y ® 20x+ Ty



6.  ol® CHIAIOIA 3y 4y S Wolof & A ZEste] ALY Tx+ 5y
7 = glet. of uf, vhe Al AN Te?

@ -x+3y @ -3x+ 5y ® -2x+ 7Ty

@ 5x -2y ® x-3y



7.

o A 2a>b + 3ab> _4(119—5b2 <
ab b

@O —2a+8b @ —2a-8b

@ 6a-2b B 2a 4+ 8b



8. o2 192 712 2] Aol7} 3a%h , =017} 4ab Q) F&HA o[t} o]
UA =P o] H 17} 942p3 & wfj A2 2] Zo]=?

_--3a%b~_

4ab




x=2y=-5%4 0, (12x3 — 15xy?) + 3xy 9

9.

® 13 A 26 @ 32 B 41

D 7



3x—2y, B=2x+y <4 o], 2(3A -2B) -3(2A -B) = x, y °l
A
X

A =
ELRSEEREIAE [h)

D 2x+y @ -2x-y ® 5x—y

@ 3x-y ® x-3y









2 3 i
13. x;y_xz Y —ax by QU A5 a, b o Fatb o G20

> 1
®_§ @ -1 ®_§ @ 1 ®

w| ot



14. 124° -24a?b & oJH A L2 UsE §0] 6a® o]t T |, o 427

@ a-2b @ a-4b @ 2a-2b

@ 2q —4b ® 2a — 24b



15. oS 133 Zo] AR 8 go] 217t A P, QS AS 1
AAPQ 9] Wol? I

® a*+ab 2
a @ a?® + 2ab ® a2+ 3ab

2
@ a2+ 4ab ® a? 4+ 5ab



